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1. Let A=
1 2

Define Linear Transformation7 : R* — R*, by T(x) = Ax. Find the images under T of

i

2. Define a Linear TransformationT : R® — R’, by T(x) = Ax.
Find the vector X who is image under T is b, and determine if X is unique.
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3. Let 7:R* —» R* be a linear transformation such that T(1,0) = (-1,1) and T(0,1) = (1, —2)
Find the image of (1, —4) under T.



Given vV =(¥,V,,v,), and T'(v) = (v; +v,, v, + 2v, +v;,v, +V,)

Find all vectors in the domain of T so that T(Vv) =0

LetT: R’ — R’ be a linear transformation that projects each vector x = (x,, X,, X;) onto the
plane x, =0, so T(x) =(x,, 0, x;). Show that T is a linear transformation.

Show that the transformation T defined by T(x) = (x,, X,). ) = (4x, — 2X,, X, +4 +4x,) is
not linear.



